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QUESTION 1

Zev works as the librarian at the local library. an also borrow books as an ordinary library patron. many actors are
needed when modeling people like Zev in a use case diagram? 

A. 1 actor 

B. 2 unconnected actors 

C. 1 actor and 1 external system 

D. 2 actors connected by a generalization 

Correct Answer: B 

 

QUESTION 2

What are metaclasses? 

A. classes that are abstract 

B. classes that have no supertypes 

C. classes whose instances are objects 

D. classes whose instances are classes 

E. classes that are instances of classes 

Correct Answer: D 

 

QUESTION 3

What statements are true of the endency in the exhibit? (Choose two) 

A. X can access only the baz property of W. 

B. X can access the baz and quux properties of W. 

C. X can access only the quux property of W. 
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D. W can access only the foo property of X. 

E. W can access the foo and bar properties of X. 

F. W can access only the bar property of X. 

Correct Answer: BF 

 

QUESTION 4

What is a relationship in UML 2.0? 

A. the state of being related 

B. an element that has no derived union 

C. an element that has no derived composition 

D. an element that must have two owned elements 

E. an element that specifies a connection between elements 

Correct Answer: E 

 

QUESTION 5

What is an element in UML 2.0? 

A. member of a set 

B. instance of a class 

C. constituent of a model 

D. abstract metaclass with only one superclass 

E. substance not separable by ordinary chemical means 

Correct Answer: C 
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